

PURCHASE ORDER



Province of La Union

		for OPG U	ise only:	
Supplier:	GIOSETECH GENERAL MERCHANDISE	PO No.	2024-11-04-009	
Address:	Bauang, La Union	Date:	11-04-2024	
		MOP:	NP:SVP	
		PR No/s.	128- N	

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: Office of the Provincial Governor Delivery Term: FOB
Date of Delivery: Within Thirty (30) calendar days upon the receipt of the P.O. Payment Term:

Item No.	Unit	Quantity	Description	Unit Cost		Amount	
1	units	3	STANDARD LAPTOP	44,190.00	P	132,570.00	
			GIGABYTE Intel Core i3 12th Generation 6 Cores 8 Threads			,	
			Processor, 16GB DDR4 RAM, 256 SSD, 15.6FHD, WIFI 6,				
			Built-in Camera, License Microsoft Windows 11 Operating				
			'System	4			
2	units	2	STANDARD DESKTOP	38,495.00	P	76,990.00	
			4 Core 4 Threads Processor (Intel Core i3 10th/11th Gen)				
			MICR-ATX Compatible Motherboard with PCI-E X16,				
			DDR4 Support DDR4 8GB (2x4GB), 512 GB SSD SATA or				
			NVMR M.2, 700W True Rated PSU 80+ Bronze, Micro-ATX				
			Case				
3	units	4	TABLET - SAMSUNG	12,795.00	P	51,180.00	
			Display Size: 11.0 inches, Resolution: 1200X1920 px,				
			Technology: GSM/HSPA/LTE/5G,				
			Dimension: 257.1x168.7x6.9mm, Weight: 480G or492G,				
			Processor: Octa Core 2.2Hz, Memory RAM: 8GB,				
			Internal: 128GB, Camera: 8MP, OS: Android 13, Battery:				
			7040mAh	10.005.00		000 105 00	
4	units	15	TABLET - SAMSUNG	13,895.00	P	208,425.00	
			Display Size: 11.0" Inches, Resolution: 1600x2560 px,				
			Technology: GSM/HSPA/LTE,			7.5	
			Dimension: 257.1x168.7x7.6 mm,				
			Processor: Octa Core 2.2Hz, Memory RAM: 15GB,				
			Internal: 256GB, Camera: 20MP, OS: Android 13, Battery:				
			8,300mAh	0.704.00	_	00.000.00	
5	units	3	SMART PHONE - SAMSUNG	9,794.00	P	29,382.00	
			Network: 5G, Processor: Octa Core 2.2GHz, Storage:				
		-	4GB/128GB,				
			Display Size: 6.5', Resolution: 1080x2340px(FHD+), Camera: 50MP,				
			Dimension: 164x75.8x809 mm, Battery: 5000mAh				
		Four Hundred Ninety Eight Thousand Five Hundred Forty Seven		SUB TOTAL			
Amount in Words:		Pesos Only		**P498,547.00**			

In case of failure to make the full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent of every day of delay shall be imposed.

Very truly yours,

Conforme:

Signature over printed name
Supplier/Contractor

Date)

RAPHAELLE VERONICA ORTEGA-DAVID

Provincial Governor

Requisition Office/Department

RAPHAELLE VERONICA ORTEGA-DAVID

Provincial Governor

PO-24-12-21



PURCHASE ORDER



Province of La Union

		for OPG u	ise only:	
Supplier:	GIOSETECH GENERAL MERCHANDISE	PO No.	wzy-11-04-009	
Address:	Bauang, La Union	Date:	11-04-2024	
		MOP:	NP:SVP	_
		PR No/s.		
			THE RESERVE THE PROPERTY OF TH	, married to
Gentlemen	Y			

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: Office of the Provincial Governor
Within Thirty (30) calendar days upon the receipt of the P.O. Delivery Term: FOB Date of Delivery: Payment Term: N 30

Item No.	Unit	Quantity	Description	Unit Cost		Amount
6	units	3	SMART PHONE - SAMSUNG	10,495.00	P	31,485.00
			Network: 5G, Processor: Octa Core 2.2GHz Storage:			
			8GB/256GB			
			Display Size: 6.5', Resolution: 1080x2340px(FHD+),		1	
			Camera: 50MP,			
			Dimension: 164x75.8x809 mm, Battery: 5000mAh			
7	units	2	PRINTER - EPSON	12,793.00	P	25,586.00
			Printer Type: Scan, Copy, Print			
			Method: On-Demand Inkjet, Maximum			
			Resolution: 5760x1440 dpi, Nozzle Configuration: 180x1,			
			Nozzle Black: 59x1, Nozzle per Colour (Cyan, Magenta,			
			Yellow)			
			Scanner Type: Flatbed Colour Image Scanner			
8	units	2	WIRELESS PHONE - PANASONIC	4,643.00	P	9,286.0
			Digital Cordless Phone with AC Adaptor			
			Ni MH Batteries, 50 Entries, 10H Talk, System: DECT,			
			Number of Channels: 60 Channels, Frequency: 1.9 GHz,			
			Frequency Range: 1.88-a.98 GHz			
9	units	2	SMART TELEVISION - DEVANT	41,938.00	P	83,876.00
			65UHD205 65" 4K UHD (Smart TV), Al Brightness Control,			
			Dynamic Tone Mapping, Auto Low Latency Mode, Intelligent Voice			
20			Recognition, Resolution: 4K Ultra HD,			
			Net/Gross Weight (KG): 16.7KG/24.3KG,			
			Dimension with Stand: (WxHxD): 1452x300x896			
			Dimension without Stand (WxHxD): 1452x74x834			
10	units	5	SMART TELEVISION - DEVANT	16,838.00	P	84,190.00
			32STV103 32' HD (Smart TV) Real Surround Sound,			
	***************************************		Anyview Cast, Resolution: HD Ready 1366x768			
			Net/Gross Weight (KG): 3.7KG/4.8KG			
		Tues U.		SUB TOTAL		
Amount in Words:		IWO Hu	ndred Thirty Four Thousand Four Hundred Twenty Three Pesos Only	**P234,423.00**		

In case of failure to make the full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent of every day of delay shall be imposed.

Very truly yours,

Conforme:

Signature over printed name Supplier/Contractor - 2024 Date

RAPHAELLE VERONICA ORTEGA-DAVID

Provincial Governor

Requisition Office/Department

RAPHAELLE VERONICA ORTEGA-DAVID Provincial Governor



PURCHASE ORDER



Province of La Union

Supplier:	the state of the s		RAL MERCHANDISE	for OPG use only: PO No. 1024-11-04-009			1-009
Address:	Bauang, L	a Union		Date: 11-04-2024			
				MOP:	IP:SV	P	
				PR No/s.			
Gentlemen							
	Plea		this office the following articles subject to the terms and conditi				
Place of De			ne Provincial Governor	Delivery Te			FOB
Date of De	iivery.	VVIUIII IIII	rty (30) calendar days upon the receipt of the P.O.	Payment To	erm:		h 30
Item No.	Unit	Quantity	Description	Unit Cost		Amount	
			Dimension with Stand (WxHxD): 719x191x471,				
44			Dimension without Stand (WxHxD): 719x84x427				
11	unit	1	SMART TELEVISION - DEVANT	26,34	3.00	P	26,343.00
			43UHD205 43" UHD (Smart TV),				
			Dynamic Contrast Ratio: 3,000,000:1,				
			Resolution: Ultra HD 3840x2160,				
			Net/Gross Weight (KG): 6.9KG/10.0KG,				
			Stand (WxHxD): 963x196x614,				
			Dimension without Stand (WxHxD): 963x74x560				
12	units	30	HANDHELD RADIO - BAOFENG	1,64	0.00	P	49,200.00
			Frequency: 420-450MHz, 16 Channels,				
			1500mAh Li-ion Battery, 50 CTCAA/105 CDCSS				
13	units	2	PAPER SHREDDER - FILUX	15,78	0.00	P	31,560.00
			Type Cut: Micro Cut, Size: 4x10 mm, Material: Plastic,				,
			Shred Capacity: 10 Sheets, Waste Container,				
			Capacity: 23 Liters				
14	units	7	WATER DISPENSER - HANABISHI / ASAHI	3 28	0.00	P	22,960.00
	Gritto	<u> </u>	Table Top Water Dispenser, Hot and Cold, Electronic	0,20	0.00		22,000.00
			Type Cooling, 420W, Dimension: 28cm x 28cm x 40cm				
15	units	2	WATER DISPENSER - HANABISHI / ASAHI	10,84	5.00	P	21,690.00
	GITTE	-	Top Load Water Dispenser, Hot, Cold and Normal with	10,01	0.00		21,000.00
· · · · · · · · · · · · · · · · · · ·			Child Lock Function (hot), Double Insulated AC Cord,				
,			Dimension: 31cm x 36cm x 103.5cm				
16	units	3	WATER DISPENSER - HANABISHI / ASAHI	11,49	3 00	P	34,479.00
10	uiiis	3	Top Load Water Dispenser with Cabinet and Cover,	11,43	3.00		34,479.00
			Hot, Cold and Normal with Child Lock Function (hot),				
			Hot, Cold and Normal with Child Lock Function (not),	SUB TOTAL			
Amount i	n Words	One Hun	dred Eighty Six Thousand Two Hundred Thirty Two Pesos	SUB TUTAL			
Amount	ii vvoids.		Only		*	*P18	6,232.00**
In case of fa			delivery within the time specified above, a penalty of one-tenth	(1/10) of one per	cent	of eve	ry day of
				Very truly yours			
				very truly yours	,		
				7			
				PHAELLE VER			
Conforme:		/		∨Provi	nciai	Jover	1101
Comorne.		1	Salar Commence Commence				
	Ging	~ /4x	T JACE				
	Signatu	re over prin					
		oplier/Contr					
		- 07- 2					
	/	Date					
			Requisition Office/Department				
1							
1							
			RAPHAELLE VERONICA ORTEGA-DAVID				

Provincial Governor



PURCHASE ORDER



			Province of La Union			
				for OPG use only		
Supplier:			RAL MERCHANDISE		11-04-009	
Address:	Bauang, L	a Union		Date: 11-04-22		
				MOP: NP:S'	VP	
	-			PR No/s.		
Gentlemen	1:					
	Plea	ase furnish	this office the following articles subject to the terms and conditi	ions contained hereir	n:	
Place of De			ne Provincial Governor	Delivery Term:	FOB	
Date of De	livery:	Within Thi	rty (30) calendar days upon the receipt of the P.O.	Payment Term:	n 30	
Item No.	Unit	Quantity	Description	Unit Cost	Amount	
			Double Insulated AC Cord,			
			Dimension: 31cm x 36cm x 103.5cm			
17	units	2	WATER DISPENSER - HANABISHI / ASAHI	14,883.00	₱ 29,766.00	
			Bottom Load Water Dispenser with Hot, Ambient and Cold			
			Function, Water Tank: Stainless Steel and Weld,			
			Dimension: 31cm x 36cm x 103.5cm			
18	units	4	MULTIFUNCTIONAL SCAFFOLDING	10,845.00	₱ 43,380.00	
			6ft Multifunction Scaffold, Materials: Steel and 12mm			
			Plywood, Max Load Capacity: 450kg,	,		
			Dimension: 73x39.5x10.5cm			
			nothing follows			
Amount	in Words:	Nine Hu	undred Ninety Two Thousand Three Hundred Forty Eight	GRAND TOTAL		
Amount	iii vvorus.		Pesos Only		**P992,348.00**	
			delivery within the time specified above, a penalty of one-tenth	(1/10) of one percent	of every day of	
delay shall b	oe imposed					
				V/		
				Very truly yours,		
			POLU - ROW			
			Superior Al RA	PHAELLE VERONIC	CA ORTEGA-DAVID	
				Provincia	Governor_	
Conforme:		6			(
	G	1/1	of The			
Signature over printed name						
Supplier/Contractor						
	1	07-20				
		Date				
			Position Office/Department			
			Requisition Office/Department			
1						
-			RAPHAELLE VERONICA ORTEGA-DAVID			